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Question1:-Whose autobiography is "Stumped, life behind and beyond Twenty two
yards"?

"�ட�ப�, ைலஃ� �ைஹ�� அ�� �யா�� ேடா��� � யா��" (Stumped, life

behind and beyond Twenty Two yards) யா�ைடய �யச�ைத?

        A:-Mahendra Singh Dhoni

மேக��ர �� ேதா�

        B:-Syed Kirmani

ைசய� ��மா�

        C:-Nayan Mongia

நய� ேமா��யா

        D:-Kiran More

�ர� ேமா�

        Correct Answer:- Option-B

Question2:-"I too had a dream" is the autobiography of :

"என��� ஒ� கன� இ��த�" (I too had a dream) எ�ப� இவர� �யச�ைத

        A:-Dr. S. Somanath

டா�ட�. எ�. ேசாமநா�

        B:-Dr. APJ Abdul Kalam

டா�ட�. ஏ.�.ேஜ. அ��� கலா�

        C:-Dr. Varghese Kurian

டா�ட�. வ��� ��ய�

        D:-Dr. K.M. Cherian

டா�ட�. ேக.எ�. ெச�ய�

        Correct Answer:- Option-C

Question3:-Who among the following was in charge of a referundum conducted in
Ponnani Taluk as part of Guruvayoor Sathyagraha?



��வா�� ச��யா�ரஹ��� ஒ� ப��யாக ெபா�னா� தா�கா�� நட�த�ப�ட

வா�ெக���� ��வ�பவ�க�� ெபா��ேப�றவ� யா�?

        A:-K. Kelappan

ேக. ேகள�ப�

        B:-C. Rajagopalachari

�. ராஜேகாபாலா�சா�

        C:-T. Prakasham

�.�ரகாஷ�

        D:-T. K. Madhavan

�. ேக. மாதவ�

        Correct Answer:-Question Cancelled

Question4:-Kathakali is said to have originated from which of the following dance
forms

கதக� ��வ�� எ�த நடன வ�வ������ ேதா��யதாக� �ற�ப��ற�?

        A:-Mohiniyattam

ேமா��யா�ட�

        B:-Koodiyattom

��யா�ட�

        C:-Ramanattam

ராமநா�ட�

        D:-Krishnanattam

���ணநா�ட�

        Correct Answer:- Option-C

Question5:-Which among the following women leaders was a member of
constituent assembly which framed the constitution of India?

இ��ய அர�யலைம�ைப உ�வா��ய அர�யலைம�� சைப�� ��வ�� ெப�

தைலவ�க�� யா� உ���னராக இ��தா�?

        A:-Arya Pallom

ஆ�ய ப�ல�

        B:-Accamma Cherian

அ�காமா ெச�ய�

        C:-AV Kuttimalu Amma

ஏ � ���மா� அ�மா

        D:-Dakshayani Velayudhan



தா�ாய� ேவலா�த�

        Correct Answer:- Option-D

Question6:-Freedom Fighter of India, who is known as the "Prince of Patriots"?

இ��ய �த��ர� ேபாரா�ட �ர�க�� "ேதசப�த�க�� இளவரச�" (Prince of Patriots)

எ�� அைழ�க�ப�பவ� யா�?

        A:-Bhagat Singh

பக� ��

        B:-Chandrasekhar Azad

ச��ரேசக� ஆசா�

        C:-Subhash Chandra Bose

�பா� ச��ர ேபா�

        D:-Sukhdev

��ேத�

        Correct Answer:- Option-C

Question7:-Considering the given list, which one falls in the category of Jovian
planet?

ெகா��க�ப�ட ப��யைல� க���� ெகா��, எ� ேஜா�ய� �ரக��� வைக��

வ��ற�?

        A:-Mercury

�த�

        B:-Mars

ெச�வா�

        C:-Jupiter

�யாழ�

        D:-Earth

��

        Correct Answer:- Option-C

Question8:-Which planetary wind blows from the sub-tropical high-pressure belt to
the sub-polar low-pressure belt?

�ைண ெவ�பம�டல உய� அ��த� ப�ைட����� �ைண ��வ �ைற�த அ��த�

ப�ைட�� எ�த �ரக� கா�� ���ற�?

        A:-NE Trade winds

வட�ழ�� வ��தக� கா��

        B:-SE trade winds



ெத� �ழ�� வ��தக� கா��

        C:-The Westerlies

ெவ�ட���

        D:-Polar Easterlies

ேபாலா� ஈ�ட���

        Correct Answer:- Option-C

Question9:-Arrange the following mountain passes in their descending order of
altitude from the mean sea level.
(i)   Burji La,
(ii)  Fotu La,
(iii) Bara Lacha La,
(iv) Zoji La

��வ�� மைல�பாைத கட�� ெச�வைத சராச� கட� ம�ட������ உயர��� இற��

வ�ைச�� அைம�க��.

(i)  ��ஜா லா

(ii)  ஃேப� லா

(iii) பாரா ல�சா லா

(iv) ேஜா� லா

        A:-(i)-(iii)-(iv)-(ii)
(i)-(iii)-(iv)-(ii)

        B:-(iii)-(i)-(ii)-(iv)
(iii)-(i)-(ii)-(iv)

        C:-(ii)-(i)-(iii)-(iv)
(ii)-(i)-(iii)-(iv)

        D:-(ii)-(i)-(iv)-(iii)
(ii)-(i)-(iv)-(iii)

        Correct Answer:- Option-B

Question10:-Neeleswaram of Kasaragod district in Kerala is known for the presence
of which one of the following mineral deposits?

ேகரளா�� உ�ள காசராகா� மாவ�ட��� �ேல�வர� ��வ�� எ�த க�ம ைவ��

இ��பதா� ெபய� ெப���ள�?

        A:-Bauxite

பா�ைச�

        B:-China clay

�னா க�ம�

        C:-Silica Sand

���கா மண�



        D:-Lime stone

��ணா�� க�

        Correct Answer:- Option-A

Question11:-The famous Chilika Lake is located in which of the following state?

�க�ெப�ற ��கா ஏ� ��வ�� எ�த மா�ல��� அைம���ள�?

        A:-Odisha

ஒ�சா

        B:-Karnataka

க�நாடகா

        C:-West Bengal

ேம�� வ�காள�

        D:-Tamil Nadu

த��நா�

        Correct Answer:- Option-A

Question12:-On a map, the scale is given as a statement '1 cm represents 2 km on
the ground'. Which of the following fractional scales correctly  represents this
statement?

ஒ� வைரபட���, '1 ெச.�. எ�ப� தைர�� 2 �.�. எ�பைத� ����ற�' எ�ற

அ��ைகயாக அள�ேகா� ெகா��க�ப���ள�. ��வ�� ��ன அள�ேகா�க�� எ�

இ�த� ��ைற ச�யாக� ����ற�?

        A:-1:2,000
1:2,000

        B:-1:20,000
1:20,000

        C:-1:200,000
1:200,000

        D:-1:2,000,000
1:2,000,000

        Correct Answer:- Option-C

Question13:-The development strategy of India since 1990's focused greater
reliance on ______.

1990க�� இ��� இ��யா�� வள��� உ�� _________ ஐ அ�க� ந�����ப��

கவன� ெச����ற�.

        A:-Market Mechanism and Private Sector

ச�ைத வ��ைற ம��� த�யா� �ைற

        B:-Planning and Social Sector Spending



��ட�ட� ம��� ச�க� �ைற ெசல�

        C:-Investment in Public Sector Units

ெபா���ைற ���க�� �த��

        D:-Market intervention by the government

அரசா�க��� ச�ைத தைல��

        Correct Answer:- Option-A

Question14:-The impact and the incidence of a tax are borne by different entities; is
true in the case of which among the following tax?

வ��� தா�க�� �க��� ெவ�ேவ� ��வன�களா� ஏ�க�ப���றன. ��வ�� எ�த

வ� இ�த �ஷய��� உ�ைமயான�?

        A:-Direct Tax

ேநர� வ�

        B:-Indirect Tax

மைற�க வ�

        C:-Personal Income Tax

த�நப� வ�மான வ�

        D:-Corporate Taxes

��வன வ�க�

        Correct Answer:- Option-B

Question15:-Dr. M S Swaminathan was an advocate of "Evergreen Revolution",
which stood for _____.

டா�ட� எ� எ� �வா�நாத� "���ய ப�ைம� �ர����" ஆதரவாளராக இ��தா�. இ�

_________ ஐ ����ற�.

        A:-IAAP-IADP-HYVP
IAAP-IADP-HYVP

        B:-Seed-Water-Fertilizer Strategy

�ைத-��-உர உ��

        C:-Environmentally Sustainable Agriculture, Sustainable Food Security and
Preservation of Biodiversity

�����ழ� ��யாக �ைலயான �வசாய�, �ைலயான உண�� பா�கா�� ம��� ப����

ெப��க�ைத� பா�கா�த�

        D:-Contract farming as the key modus operandi

���ய ெசய�பா�� �ைறயாக ஒ�ப�த �வசாய�

        Correct Answer:- Option-C

Question16:-Which tax in India is commonly referred to as the Google Tax?



இ��யா�� எ�த வ� ெபா�வாக ��� வ� எ�� ����ட�ப��ற�?

        A:-Securities Transaction Tax

ப��ர ப�வ��தைன வ�

        B:-Anti-dumping Duty

ெபா�� ���� எ���� வ�

        C:-Equalisation Levy

சம�ைல வ�����

        D:-Import Duty

இற��ம� வ�

        Correct Answer:- Option-C

Question17:-Which are the current GST rate Structure in India?

இ��யா�� த�ேபாைதய �எ�� ��த அைம�� எ�ன?

        A:-0%, 10%, 12%, 20% and 28%

0%, 10%, 12%, 20% ம��� 28%

        B:-0%, 5%, 15%, 18% and 25%

0%, 5%, 15%, 18% ம��� 25%

        C:-0%, 5%, 10%, 15% and 25%

0%, 5%, 10%, 15% ம��� 25%

        D:-0%, 5%, 12%, 18% and 28%

0%, 5%, 12%, 18% ம��� 28%

        Correct Answer:- Option-D

Question18:-Which among the following is a trading platform created by the
government of India, with an objective of "One Nation One Market" for agriculture
crops in India?

��வ�வனவ��� இ��யா�� �வசாய ப��க��� "ஒேர ேதச� ம��� ச�ைத" எ�ற

ேநா�க��ட� இ��ய அரசா�க�தா� உ�வா�க�ப�ட வ��தக தள� எ�?

        A:-E-NAM
E-NAM

        B:-Mandis

ம��க� (Mandis)

        C:-Agricultural Co-operative Societies

�வசாய ���ற� ச�க�க�

        D:-Farmer Producer Organizations

உழவ� உ�ப��யாள� அைம��க�

        Correct Answer:- Option-A



Question19:-Which fundamental right guaranteed by the Indian Constitution is
associated with the principles of double jeopardy, ex post facto, and protection
against self-incrimination?

இ��ய அர�யலைம�பா� உ�தரவாத� அ��க�ப�ட எ�த அ��பைட உ�ைம இர�ைட

ஆப��, �����ய உ�ைம ம��� �ய-��ற�சா���� எ�ரான பா�கா�� ஆ�ய

ெகா�ைகக�ட� ெதாட��ைடய�?

        A:-Article 19.

��� 19

        B:-Article 20.

��� 20

        C:-Article 21.

��� 21

        D:-Article 22.

��� 22

        Correct Answer:- Option-B

Question20:-The Constitution (92nd Amendment) act, 2003 amends the Eighth
Schedule to the Constitution to include which of the following languages?
(i)   Bodo
(ii)  Maithili
(iii) Santhali
(iv) Nepali
Select the correct answer using the code given below :

அர�யலைம�� (92வ� ���த�) ச�ட�, 2003 அர�யலைம��� எ�டாவ�

அ�டவைண�� ��வ�� எ�த ெமா�ைய ேச��க ���த�கைள� ெச��ற�?

(i) ேபாேடா

(ii) ைம��

(iii) ச�தா�

(iv) ேநபா�

�ேழ ெகா��க�ப���ள ����ைட� பய�ப��� ச�யான ப�ைல� ேத��ெத��க��

        A:-(i), (ii) and (iii)

(i), (ii) ம��� (iii)

        B:-(i), (ii) and (iv)

(i), (ii) ம��� (iv)

        C:-(i), (iii) and (iv)

(i), (iii) ம��� (iv)



        D:-(ii), (iii) and (iv)

(ii), (iii) ம��� (iv)

        Correct Answer:- Option-A

Question21:-Consider the following Fundamental Duties of Indian citizens as per the
Constitution of India.
(i)   Respect the National Flag and National Anthem,
(ii)  To cast a vote in elections
(iii) To develop scientific temper
(iv) To safeguard public property and to abjure violence.
Which of the statements given above is/are correct?

இ��ய அர�யலைம��� ப�, ��வ�� இ��ய ��ம�க�� அ��பைட� கடைமகைள�

கவ���க�.

(i) ேத�ய� ெகா� ம��� ேத�ய �த�ைத ம��க��.

(ii) ேத�த�க�� வா�க��க��

(iii) அ��ய� மன�பா�ைமைய வள��க��

(iv) ெபா�� ெசா���கைளப பா�கா�க�� வ��ைறைய� ைக�ட��.

ேமேல ெகா��க�ப���ள ���க�� எ� ச�யான�?

        A:-(i), (ii) and (iii)

(i), (ii) ம��� (iii)

        B:-(i), (ii) and (iv)

(i), (ii) ம��� (iv)

        C:-(i), (iii) and (iv)

(i), (iii) ம��� (iv)

        D:-All the above are correct

ேம���ய அைன��� ச�யானைவ

        Correct Answer:- Option-C

Question22:-The proclamation of National Emergency ceases to operate unless
approved by the Parliament within____?

ேத�ய அவரச�ைல �ரகடன� __________��� பாரா�ம�ற�தா�

அ��க��க�படா��டா� ���த�ப��.

        A:-One month

ஒ� மாத�

        B:-Two months

இர�� மாத�க�

        C:-Three months

��� மாத�க�



        D:-Six months

ஆ� மாத�க�

        Correct Answer:- Option-A

Question23:-Consider the following statements regarding the Right to Property
guaranteed by the Indian  Constitution,
(i)    The 44th Amendment Act abolished the right to property as a fundamental
right,
(ii)   The Right to Property is now a legal right under Article 300A,
(iii)  It protects private property against executive action but not against legislative
action,
(iv)  When the state acquires the property of a minority educational institution,
compensation must be paid.
Which of the statements given above is/are correct?

இ��ய அர�யலைம�பா� உ�தரவாத� அ��க�ப�ட ெசா���ைம ெதாட�பான ��வ��

அ��ைககைள� கவ���க�.

(i)  44வ� ���த� ச�ட� ெசா���ைமைய அ��பைட உ�ைமயாக ர�� ெச�த�.

(ii) ெசா���ைம இ�ேபா� ��� 300A இ� �� ஒ� ச�ட���� உ�ைமயா��.

(iii) இ� ��வாக நடவ��ைக����� த�யா� ெசா�ைத� பா�கா��ற�, ஆனா�

ச�டம�ற நடவ��ைக�� எ�ராக அ�ல.

(iv) அர� ஒ� ��பா�ைம க�� ��வன��� ெசா�ைத ைகயக�ப����ேபா�, இழ���

வழ�க�பட ேவ���.

ேமேல ெகா��க�ப���ள �� எ�/எைவ ச�யான�?

        A:-(i) and (ii)

(i) ம��� (ii)

        B:-(i), (ii) and (iii)

(i), (ii) ம��� (iii)

        C:-(i), (ii) and (iv)

(i), (ii) ம��� (iv)

        D:-All the above are correct

ேமேல உ�ள அைன��� ச�யானைவ

        Correct Answer:- Option-D

Question24:-Which constituency in Kerala was set to become the state's first
dispute-free constituency with the launch of a permanent Gram Nyayalaya (village
court) Adalat in January 2025?

2025 ஜனவ��� �ர�தர �ராம �யாயாலய (�ராம ��ம�ற�) அதால�

ெதாட�க�ப�டத� �ல�, ேகரள��� எ�த� ெதா�� மா�ல��� �த� ச��ைச இ�லாத

ெதா��யாக மாற இ��த�?



        A:-Taliparamba

த��பர�பா

        B:-Kalpetta

க�ெப�டா

        C:-Vamanapuram

வாமன�ர�

        D:-Thrithala

��தலா

        Correct Answer:- Option-C

Question25:-Which is/are the functions of the Kerala State Commission for Women?
(i)   Monitors laws concerning women
(ii)  Ensuring women's protection and equality
(iii) Addressing complaints related to women's rights violations
(iv) Implementing government policies on women's welfare

ேகரள மா�ல மக�� ஆைணய��� ெசய�பா�க� எைவ?

(i)  ெப�க� ெதாட�பான ச�ட�ைத க�கா��த�

(ii)  ெப�க�� பா�கா�� ம��� சம��வ�ைத உ�� ெச�த�

(iii)  ெப�க�� உ�ைம �ற�க� ெதாட�பான �கா�கைள �வ��� ெச�த�

(iv)  ெப�க� நல� ���த அரசா�க� ெகா�ைககைள ெசய�ப���த�

        A:-(i) & (ii)

(i) ம��� (ii)

        B:-(i), (ii) & (iii)

(i), (ii) ம��� (iii)

        C:-(ii) & (iii)

(ii) ம��� (iii)

        D:-All the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-D

Question26:-Who is the head of the Lokayukta at the state level?

மா�ல அள�� ேலா� ஆ��தா�� தைலவ� யா�?

        A:-Governor of the State

மா�ல ஆ�ந�

        B:-Chief Minister of the State

மா�ல �தலைம�ச�

        C:-A retired Chief Secretary



ஓ�� ெப�ற தைலைம� ெசயலாள�

        D:-A retired Chief Justice or Judge of a High Court

ஓ�� ெப�ற தைலைம ��ப� அ�ல� உய� ��ம�ற ��ப�

        Correct Answer:- Option-D

Question27:-The Act/Scheme/Policy under which the Kerala State Elderly
Commission established.

ேகரள மா�ல ��ேயா� ஆைணய� எத� �� ச�ட�/��ட�/ெகா�ைக ைய ���ய�?

        A:-Kerala State Elderly Commission Act

ேகரள மா�ல ��ேயா� ஆைணய� ச�ட�

        B:-Vayoraksha Scheme for Senior Citizens

��த ��ம�க��கான வேயார�ா ��ட�

        C:-Kerala Senior Citizens Welfare Act.

ேகரள ��த ��ம�க� நல� ச�ட�

        D:-Kerala State Palliative Care Policy

ேகரள மா�ல ேநா��த��� ���ைச ெகா�ைக

        Correct Answer:- Option-A

Question28:-The government agency which is primarily in charge for Watershed
Management in Kerala.

ேகரளா�� ���ைல ேமலா�ைம�� �த�ைமயாக� ெபா��ேப���ள அர� ��வன�

        A:-Geological Survey of India

இ��யா�� ���ய� ஆ�� 

        B:-Directorate of Environment and Climate Change

�����ழ� ம��� கால�ைல மா�ற இய��நரக�

        C:-Kerala Water Authority

ேகரள �� ஆைணய�

        D:-Department of Soil Survey and Conservation Kerala

ேகரளா�� ம� ஆ�� ம��� பா�கா��� �ைற

        Correct Answer:- Option-D

Question29:-Among the techniques that is commonly used for water conservation
in Kerala's watershed management programs, which one in the following is not
preferred due to peculiar geographical conditions of Kerala.

ேகரளா�� ���ைல ேமலா�ைம� ��ட�க�� �� பா�கா���� ெபா�வாக�

பய�ப��த�ப�� ��ப�க��, ��வ�வனவ��� எ� ேகரளா�� த���வமான

���ய� �ைலைமக� காரணமாக ���ப�பட��ைல?

        A:-Check dams



த��� அைணக�

        B:-Borewells Recharge Shafts

ஆ��ைள �ண� ம� �ர��� த��க�

        C:-Farm Ponds

ப�ைண �ள�க�

        D:-Percolation pits

வ�கா� ��க�

        Correct Answer:- Option-B

Question30:-Which is not true about Mahatma Gandhi National Rural Employment
Programme (MNREGA) in Kerala?

ேகரளா�� மகா�மா கா�� ேத�ய �ராம��ற ேவைலவா���� ��ட� (MNREGA) ப��

எ� உ�ைமய�ல?

        A:-Gram Panchayats is responsible for MGNREGA implementation.

�ராம ப�சாய��க� MGNREGA ெசய�ப��த��� ெபா��பானவ�க�

        B:-Women, Scheduled Castes (SC), Shceduled Tribes (ST), and differently-abled
persons get special priority under MGNREGA in Kerala.

ேகரளா�� MGNREGAஇ� �� ெப�க�, ப��ய� சா��ன� (SC), ப��ய�

பழ����ன� (ST) ம��� மா����றனா�க� �ற�� ����ைம ெப��றா�க�

        C:-Lack of skilled workers is a challenge faced by MGNREGA implementation in
Kerala.

ேகரளா�� MGNREGA ெசய�ப��தலா� எ��ெகா��� ஒ� சவா� �றைமயான

ெதா�லாள�க� இ�லாத�

        D:-The Central and State governments shared the funds required for
MGNREGA.

MGNREGA��� ேதைவயான ��ைய ம��ய ம��� மா�ல அர�க� ப���� ெகா�டன

        Correct Answer:- Option-C

Question31:-The name of the initiative launched in Kerala to automate human
resource management in the government sector.

அர�� �ைற�� ம�தவள ேமலா�ைமைய தா�ய�கமா��வத�காக ேகரளா��

ெதாட�க�ப�ட �ய���� ெபய�

        A:-SPARK
SPARK

        B:-KSWAN
KSWAN

        C:-e-Office
e-Office



        D:-e-Seva
e-Seva

        Correct Answer:- Option-A

Question32:-Which Committee of the Kerala Legislative Assembly reviews, rules
and regulations under delegated legislation?

ேகரள ச�டம�ற��� எ�த� �� �ர����வ ச�ட��� �� ��க� ம���

ஒ����ைறகைள ம��பா�� ெச��ற�?

        A:-Public Accounts Committee

ெபா�� கண��� ��

        B:-Committee on Subordinate Legislation

�ைண� ச�ட���கான ��

        C:-Finance Committee

��� ��

        D:-Law Reforms Committee

ச�ட �����த� ��

        Correct Answer:- Option-B

Question33:-The safeguards against Administrative Arbitrariness is included in
which Article of the Indian Constitution.

��வாக த���ைச�� எ�ரான பா�கா��க� இ��ய அர�யலைம��� எ�த� ����

ேச��க�ப���ளன?

        A:-Article 14

��� 14

        B:-Article 19

��� 19

        C:-Article 51A

��� 51A

        D:-Article 360

��� 360

        Correct Answer:-Question Cancelled

Question34:-Name the Writ is issued by the Supreme Court when a decision
violates the Principles of Natural Justice.

ஒ� ��ைவ இய�ைக ���� ெகா�ைக ���ேபா� உ�ச ��ம�ற�தா� �ற���க�ப��

�� ெபயைர� ����ட��

        A:-Habeas Corpus

ஆ�ெகாண��



        B:-Mandamus

ம�

        C:-Prohibition

தைட

        D:-Certiorari

சா�ற���

        Correct Answer:- Option-D

Question35:-The country recently collaborated with India to develop the 'Trajan 155
mm towed artillery gun system'

'�ராஜ� 155 �� இ�ைவ �ர�� ��பா�� அைம��' ஐ உ�வா�க இ��யா�ட�

இைண�� ப�யா��ய நா�

        A:-Australia

ஆ��ேர�யா

        B:-Japan

ஜ�பா�

        C:-Russia

ர�யா

        D:-France

�ரா��

        Correct Answer:- Option-D

Question36:-Which among the following vitamin promote absorption of calcium?

��வ�� ைவ�ட��க�� எ� கா��ய� உ���தைல ஊ�����ற�?

        A:-Vitamin C

ைவ�ட�� �

        B:-Vitamin E

ைவ�ட�� இ

        C:-Vitamin D

ைவ�ட�� �

        D:-Vitamin K

ைவ�ட�� ேக

        Correct Answer:- Option-C

Question37:-Total number of bones in an adult human body is

ம�த உட�� உ�ள ெமா�த எ���க�� எ���ைக



        A:-206
206

        B:-226
226

        C:-260
260

        D:-266
266

        Correct Answer:- Option-A

Question38:-Which essential micro-nutrient is required for the synthesis of thyroid
hormone?

ைதரா�� ஹா�ேமா� ெதா����� எ�த அ��யாவ�ய ����ட�ச��

ேதைவ�ப��ற�?

        A:-Iron

இ���

        B:-Iodine

அேயா��

        C:-Zinc

��தநாக�

        D:-Selenium

ெச��ய�

        Correct Answer:- Option-B

Question39:-Which among the following is a major air pollutant?

��வ�வனவ��� எ� ���ய கா�� மா�பா�?

        A:-Hydrogen sulphide

ைஹ�ரஜ� ச�ைப�

        B:-Nitrogen oxide

ைந�ரஜ� ஆ�ைச�

        C:-Carbon monoxide

கா�ப� ேமானா�ைச�

        D:-Carbon dioxide

கா�ப� ைட ஆ�ைஸ�

        Correct Answer:- Option-C

Question40:-Human Papilloma Virus infection is a risk factor of

ம�த பா��ேலாமா ைவர� ெதா���கான ஆப�� கார�

        A:-Colon Cancer



ெப���ட� ���ேநா�

        B:-Breast Cancer

மா�பக ���ேநா�

        C:-Lung Cancer

�ைர�ர� ���ேநா�

        D:-Cervical Cancer

க��ப�ைப வா�� ���ேநா�

        Correct Answer:- Option-D

Question41:-Which among the following is the causative organism of Syphills?

��வ�வனவ��� ைச���(Syphills) �� காரணமான உ��ன� எ�?

        A:-Treponema Pallidum

�ெரேபாேனமா ேப�ட�

        B:-Trichomonas Vaginalis

�ைர�ேகாேமானா� வ�ன��

        C:-Haemophilus ducreyi

�ேமா�ல� ��ேர�

        D:-Neisseria Gonorrhoeae

���யா ேகாேனா�யா

        Correct Answer:- Option-A

Question42:-"VIVA Project" a Kerala Government initiative, launched in 2023
focuses on prevention and treatment of which disease?

ேகரள அர�� ���ய��யான 2023 இ� ெதாட�க�ப�ட "�வா ��ட�" எ�த ேநாைய�

த��ப��� ���ைசய��ப��� கவன� ெச����ற�?

        A:-Life style diseases

வா��ைக �ைற ேநா�க�

        B:-Anemia

இர�த ேசாைக

        C:-Depression

மன�ேசா��

        D:-Vitamin Deficiency Disorders

ைவ�ட�� �ைறபா� ேகாளா�க�

        Correct Answer:- Option-B

Question43:-World Health Day Theme 2025, "Healthy beginnings, Hopeful Futures"
focuses on



உலக �காதார �ன க��ெபா�� 2025, "ஆேரா��யமான ஆர�ப�, ந���ைகயான

எ��கால�" இ�� கவன� ெச����ற�

        A:-Mosquito borne diseases prevention and control

ெகா��களா� பர�� ேநா�க� த��� ம��� க���பா�

        B:-Mental Health and well being

மன ஆேரா��ய� ம��� ந�வா��

        C:-Elderly Health and survival

��ேயா� ஆேரா��ய� ம��� உ��வா��

        D:-Maternal and new-borne health and survival

தா�வ� ம��� ��தாக� �ற�த �ழ�ைத�� ஆேரா��ய� ம��� உ��வா��

        Correct Answer:- Option-D

Question44:-What is the full form of MOSDAC?

MOSDAC இ� �� வ�வ� எ�ன?

        A:-Meteorological and Oceanographic Satellite Data Analysis Centre
Meteorological and Oceanographic Satellite Data Analysis Centre

        B:-Meteorological Open Sources for Data Analysis Centre
Meteorological Open Sources for Data Analysis Centre

        C:-Metal Oxide Semiconductor Digital Amplifier Circuit
Metal Oxide Semiconductor Digital Amplifier Circuit

        D:-Meteorological and Oceanographic Satellite Data Archival Centre
Meteorological and Oceanographic Satellite Data Archival Centre

        Correct Answer:- Option-D

Question45:-The correct arrangement of the following members of electromagnetic
spectrum in the ascending order of energy.
Microwave-1, Radio wave-2, visible-3, UV-4, γ rays-5, X-rays-6, IR-7

��கா�த �றமாைல�� ��வ�� உ���ன�க�� ச�யான அைம�� ஆ�ற��

ஏ�வ�ைச�� உ�ள�.

��ணைல-1, ேர�ேயா அைல-2, ����-3, UV-4,  க��க�-5, X க��க�-6, IR-7

        A:-1, 2, 7, 3, 4, 6, 5
1, 2, 7, 3, 4, 6, 5

        B:-2, 1, 7, 3, 4, 6, 5
2, 1, 7, 3, 4, 6, 5

        C:-2, 1, 4, 3, 7, 6, 5
2, 1, 4, 3, 7, 6, 5

        D:-5, 6, 4, 3, 7, 1, 2
5, 6, 4, 3, 7, 1, 2

        Correct Answer:- Option-B



Question46:-Which fundamental SI unit influences the definition of most of the
other SI fundamental units?

எ�த அ��பைட SI அல� ெப��பாலான ம�ற SI அ��பைட அல�க�� வைரயைறைய�

பா���ற�?

        A:-Meter

��ட�

        B:-kilogram

�ேலா�ரா�

        C:-second

ெசக��

        D:-Kelvin

ெக���

        Correct Answer:- Option-C

Question47:-Which among the following places in India where the value of
acceleration due to gravity is highest?

இ��யா�� ��வ�� இட�க�� எ�� ஈ��� �ைசயா� ஏ�ப�� ���க� அ�கமாக

உ�ள�?

        A:-Delhi

ெட��

        B:-Mumbai

��ைப

        C:-Thiruvananthapuram

��வன�த�ர�

        D:-All have same acceleration due to gravity

ஈ��� �ைசயா� ஏ�ப�� ���க� அைன��� ஒேர மா��யாக இ����

        Correct Answer:- Option-A

Question48:-What is the pH of a  molar aqueous Hydrochloric acid solution?

 ேமாலா� �� ைஹ�ேரா�ேளா�� அ�ல� கைரச�� pH எ�ன?

        A:-7
7

        B:-7.2
7.2

        C:-6.8
6.8



        D:-None of these

இவ��� எ����ைல

        Correct Answer:- Option-A

Question49:-The quantum numbers for the valence electron of an element are
given below. 

The atom is

ஒ� த�ம��� ேவல�� எல��ரா��கான �வா�ட� எ�க� �ேழ

ெகா��க�ப���ளன.

அ� எ�ப� _________

        A:-Helium

��ய�

        B:-Lithium

���ய�

        C:-Beryllium

ெப��ய�

        D:-Boron

ேபாரா�

        Correct Answer:- Option-B

Question50:-Which of the following gas can be liquified under high pressure and at
40°C?

��வ�� வா��க�� எ� அ�க அ��த���� 40°C ெவ�ப�ைல���

�ரவமா�க�படலா�?

        A:-Nitrogen

ைந�ரஜ�

        B:-Hydrogen

ைஹ�ரஜ�

        C:-Oxygen

ஆ��ஜ�

        D:-Ammonia

அ�ேமா�யா

        Correct Answer:- Option-D

Question51:-Pyrolusite is the oxide ore of ________ metal.

ைபேரா�ைச� எ�ப� ________ உேலாக��� ஆ�ைச� தா�.



        A:-Iron

இ���

        B:-Aluminium

அ���ய�

        C:-Zinc

��தநாக�

        D:-Manganese

மா�க��

        Correct Answer:- Option-D

Question52:-Which among the following statements are correct with respect to
krishnanattam?
(i)   Krishnanattam is the modified form of Ashtapathiyattam
(ii)  Manavedan Raja of Kozhikkode was the founder of Krishnanattam
(iii) Manavedan Raja wrote Krishna Geethi
(iv) Krishna Geethi was written on the model of Geetha Govindam of Jayadeva

���ணநா�ட� ெதாட�பாக ��வ�� ���க�� எ� ச�யான�?

(i)  ���ணநா�ட� எ�ப� அ�டப�யா�ட��� மா��யைம�க�ப�ட வ�வ�.

(ii)  ேகா��ேகா�ைட ேச��த மனேவத� ராஜா ���ணநா�ட�ைத ���யவ�.

(iii) மனேவத� ராஜா ���ண ��ைய எ��னா�.

(iv) ெஜயேதவ�� �த ேகா��த��� மா���� ���ண �� எ�த�ப�ட�.

        A:-Only (i & iv)

(i) ம��� (iv) ம���

        B:-Only (i, ii & iii)

(i), (ii) ம��� (iii) ம���

        C:-Only (i, iii & iv)

(i), (iii) ம��� (iv) ம���

        D:-All the above (i, ii, iii & iv)

ேமேல உ�ள அைன��� (i, ii, iii & iv)

        Correct Answer:- Option-D

Question53:-Emiliano Martinez, who bagged the Best FIFA Men's Goalkeeper award
for the year 2024, belongs to

2024 ஆ� ஆ���கான �ற�த FIFA ஆ�க� ேகா���ப� ��ைத� ெப�ற எ��யாேனா

மா��ென� எ�த நா�ைட� ேச��தவ�?

        A:-Argentina

அ�ெஜ��னா

        B:-France



�ரா��

        C:-Brazil

�ேர��

        D:-Croatia

�ேரா�யா

        Correct Answer:- Option-A

Question54:-Match the following characters and works and find out the correct
answer from the choices given
a.  Appukuttan                   i.   Pravachakante Vazhi
b.  Narayanan                    ii.  Keshavante Vilapangal
c.  Govindankutty               iii. Sundarikalum Sundaranmarum
d.  Irumban Govindan Nair  iv.  Asuravithu

��வ�� எ����கைள�� பைட��கைள�� ெபா���, ெகா��க�ப�ட ேத��க��

இ��� ச�யான ப�ைல� க�ட�ய��.

a.  அ�����ட�                         i.   �ரவசக�ேட வா�

b.   நாராயண�                           ii.  ேகசவ�ேத �லாப�க�

c.   ேகா��த����                   iii. ����க�� ��தர�மா��

d.  இ��ப� ேகா��த� நாய�   iv.  அ�ர��

        A:-a-i, b-ii, c-iii, d-iv
a-i, b-ii, c-iii, d-iv

        B:-a-ii, b-iii, c-iv, d-i
a-ii, b-iii, c-iv, d-i

        C:-a-iv, b-ii, c-i, d-iii
a-iv, b-ii, c-i, d-iii

        D:-a-ii, b-i, c-iv, d-iii
a-ii, b-i, c-iv, d-iii

        Correct Answer:- Option-D

Question55:-M.T Vasudevan Nair won the Jnanpith Award in the year

எ�.�. வா�ேதவ� நாய� ஞான�ட ��ைத ெவ�ற ஆ��

        A:-1984
1984

        B:-1995
1995

        C:-2007
2007

        D:-2019
2019

        Correct Answer:- Option-B



Question56:-The Nehru Trophy boat regatta is held in

ேந� ேகா�ைப பட�� ேபா�� நைடெப�ற இட�

        A:-Ashtamudikayal

அ�ட��காய�

        B:-Punnamadakayal

��னமடகாய�

        C:-Vembanattukayal

ேவ�பநா��காய�

        D:-None of these

இவ��� எ����ைல

        Correct Answer:- Option-B

Question57:-Which among the following statement/statements are not correct with
respect to Pradhan Mantri Vidyalaxmi Scheme?
(i)   It is a Scheme for providing financial assistance to students for higher studies
(ii)  The Scheme was launched in 2023.
(iii) NIRF rank of the Higher education institutions is considering for sanction of
loan.
(iv) The Scheme provides collateral-free and guarantor-free education loans

�ரதா� ம��� ��யால��� ��ட� ெதாட�பாக ��வ�� அ��ைக அ��ைகக�� எ�

ச�யான� அ�ல?

(i) இ� உய� ப���க��� மாணவ�க��� �� உத� வழ��வத�கான ஒ� ��டமா��.

(ii) ��ட� 2023 இ� ெதாட�க�ப�ட�.

(iii) உய�க�� ��வன�க�� NIRF தரவ�ைச கட� அ�ம��� ப����க�ப��

வ��ற�.

(iv) ��ட� �ைணய� இ�லாத ம��� உ�தரவாத� இ�லாத க��� கட�கைள

வழ���ற�.

        A:-Only (i)

(i) ம���

        B:-Only (i & ii)

(i) ம��� (ii) ம���

        C:-Only (ii)

(ii) ம���

        D:-Only (iii & iv)

(iii) ம��� (iv) ம���

        Correct Answer:- Option-C



Question58:-Bashar al-Assad was the former president of

பஷா� அ�-அசா� ��னா� ஜனா�ப�யாக இ��தா�

        A:-Syria

��யா

        B:-Lebanon

ெலபனா�

        C:-Egypt

எ���

        D:-Jordan

ேஜா�டா�

        Correct Answer:- Option-A

Question59:-Which software is used for video editing?

��ேயா எ������� எ�த ெம�ெபா�� பய�ப��த�ப��ற�?

        A:-Google Chrome

��� �ேரா�

        B:-MS PowerPoint

எ�எ� பவ�பா���

        C:-Adobe Premiere Pro

அேடா� ���ய� �ேரா

        D:-VLC Media Player

�எ�� ��யா �ேளய�

        Correct Answer:- Option-C

Question60:-What is the purpose of a router in a network?

ெந�ெவா���� ஒ� ர��ட�� ேநா�க� எ�ன?

        A:-To store data

தரைவ� ேச��க

        B:-To display web pages

வைல�ப�க�கைள� கா���க

        C:-To process information

தகவ�கைள� ெசயலா�க

        D:-To connect different networks

ெவ�ேவ� ெந�ெவா���கைள இைண�க

        Correct Answer:- Option-D

Question61:-What is an 'influencer" on social media?



ச�க ஊடக�க�� "ெச�வா�� ெச���பவ�" (Influencer) எ�றா� எ�ன

        A:-person who creates and shares engaging content

ஈ��க���ய உ�ளட�க�ைத உ�வா�� ப���� ெகா��� நப�

        B:-A social media hacker

ஒ� ச�க ஊடக ேஹ�க�

        C:-A website developer

ஒ� வைல�தள உ�வா��ந�

        D:-An online scammer

ஒ� ஆ�ைல� ேமாச� ெச�பவ�

        Correct Answer:- Option-A

Question62:-Which international regulation focuses on data protection and privacy
in the European Union?

ஐேரா��ய ஒ��ய��� தர� பா�கா�� ம��� த���ைம�� கவன� ெச����

ச�வேதச ஒ����ைற எ�?

        A:-HIPAA
HIPAA

        B:-GDPR
GDPR

        C:-CCPA
CCPA

        D:-SOX
SOX

        Correct Answer:- Option-B

Question63:-Which company recently announced its latest AI model, Gemini 1.5,
aimed at competing with OpenAI's ChatGPT-4?

OpenAI இ� ChatGPT-4 உட� ேபா����� ேநா���, அத� ச�ப��ய AI மாடலான

Gemini 1.5 ஐ ச�ப��� எ�த ��வன� அ���த�?

        A:-Microsoft

ைம�ேராசா��

        B:-Google DeepMind

��� �� ைம��

        C:-Meta

ெம�டா

        D:-Amazon

அேமசா�

        Correct Answer:- Option-B



Question64:-The main objective of Right to Information Act is

தகவ� அ��� உ�ைம� ச�ட��� ���ய ேநா�க�

        A:-Empowerment of Citizens

��ம�க��� அ�காரம��த�

        B:-Transparency and Accountability

ெவ��பைட�த�ைம ம��� ெபா�����ற�

        C:-Combating Corruption

ஊழைல எ����� ேபாரா�த�

        D:-All the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-D

Question65:-What is Unfair trade Practices under Consumer Protection Act, 2019?

�க�ேவா� பா�கா��� ச�ட�, 2019 இ� �� �யாயம�ற வ��தக நைட�ைறக� எ�றா�

எ�ன?

        A:-Manufacturing Spurious goods or providing defective services

ேபா�யான ெபா��கைள உ�ப�� ெச�த� அ�ல� �ைறபா��ள ேசைவகைள வழ��த�

        B:-Disclosing the personal Information of the consumer

�க�ேவா�� த��ப�ட தகவ�கைள ெவ���த�

        C:-All the above

ேமேல உ�ள அைன���

        D:-None of the above

ேமேல உ�ள எ��� இ�ைல

        Correct Answer:- Option-C

Question66:-Who is having the power to issue adoption orders as per Juvenile
Justice (Care and Protection of Children) Amendment Act, 2021?

�றா� �� (�ழ�ைதக�� பராம��� ம��� பா�கா��) ���த� ச�ட�, 2021 இ� ப�

த�ெத��� உ�தர�கைள �ற���க யா��� அ�கார� உ�ள�?

        A:-District Magistrate

மாவ�ட ��ப�

        B:-Probationary officer

ந�னட�ைத அ�கா�

        C:-Judge of High Court

உய� ��ம�ற ��ப�

        D:-Gramanyayalaya



�ராம ����ைற

        Correct Answer:- Option-A

Question67:-Which section of IPC has been declared as unconstitutional by supreme
court to protect the right of trans genders?

��ந�ைகக�� உ�ைமைய� பா�கா�க உ�ச ��ம�ற�தா� ஐ���� எ�த� ���

அர�யலைம���� �ரணான� எ�� அ���க�ப���ள�?

        A:-Section 123

��� 123

        B:-Section 377

��� 377

        C:-Section 382

��� 382

        D:-Section 304

��� 304

        Correct Answer:- Option-B

Question68:-Which section of BSA covers the provision of presumption of dowry
death?

வரத�சைண மரண�ைத ஊ��பத�கான ��ைய BSA இ� எ�த� ��� உ�ளட��ய�?

        A:-S.115 BSA

��� 115 BSA

        B:-S.100 BSA

��� 100 BSA

        C:-S.118 BSA

��� 118 BSA

        D:-None of the above

ேம���யவ��� எ����ைல

        Correct Answer:- Option-C

Question69:-The Sexual Harassment of Women at workplace (Prevention,
Prohibition and Redressal) Act, 2013. deal with

ப��ட��� ெப�க� �தான பா�ய� �����த� (த���, தைட ம��� ���) ச�ட�,

2013 ��வ�வனவ�ைற� ைகயா��ற�

        A:-provide leisure time to women during working hours

ேவைல ேநர��� ெப�க��� ஓ�� ேநர�ைத வழ��த�



        B:-provide wages to women

ெப�க��� ஊ�ய� வழ��த�

        C:-None of the above

ேம���யவ��� எ����ைல

        D:-Creation of Internal Complaints Committee to address complaints of Sexual
Harassment

பா�ய� �����த� �கா�கைள �வ��� ெச�ய உ� �கா� ��ைவ உ�வா��த�

        Correct Answer:- Option-D

Question70:-Which section of The Right of persons with Disabilities Act, 2016 deal
with intentionally insulting or intimidating with intent to humiliate a person with
disability within public view

மா����றனா�க� உ�ைம� ச�ட�, 2016 இ� எ�த� ���, ெபா� பா�ைவ��

மா����றனா�ைய அவமான�ப���� ேநா�க��ட� ேவ��ெம�ேற அவம���

ெச�வ� அ�ல� �ர��வ� ப�� ைகயா��ற�?

        A:-S.90

��� 90

        B:-S.87

��� 87

        C:-S.92

��� 92

        D:-S.104

��� 104

        Correct Answer:- Option-C

Question71:-The 21st term of an AP is trice its 7th term. If 9th term is 18 what is the
64th term?

ஒ� AP இ� 21வ� உ��� அத� 7வ� உ��ைப �ட ��� மட�� அ�க�. 9வ�

உ��� 18 எ�றா� 64வ� உ��� எ�ன?

        A:-125
125

        B:-127
127

        C:-128
128

        D:-130
130

        Correct Answer:- Option-C

Question72:-In some coding language MOBILE is coded as QSFMPI, then how is



PHONE coded?

�ல ����� ெமா�க�� MOBILE QSFMPI என ���ட�ப��ற�, ��ன� PHONE

எ�வா� ���ட�ப��ற�?

        A:-UMSQI
UMSQI

        B:-TLSRI
TLSRI

        C:-MUSRI
MUSRI

        D:-TKSQI
TKSQI

        Correct Answer:- Option-B

Question73:-Arun, Varun and Kiran goes to school by walking. Each of their steps
measure 55 cm, 60 cm, 65 cm respectively. If each of them step together, what is
the minimum distance each should walk so that they can cover the distance in
complete steps.

அ��, வ�� ம��� �ர� ஆ�ேயா� ப���� நைடப��� �ல� ெச���றன�.

அவ�க�� ஒ�ெவா� அ��� �ைறேய 55 ெச.�., 60 ெச.�, 65 ெச.�.

அள�ட�ப��ற�. அவ�க� ஒ�ெவா�வ�� ஒ�றாக அ�ெய��� ைவ�தா�, அவ�க�

அ�த �ர�ைத ��ைமயான ப�க�� கட�க ஒ�ெவா�வ�� நட�க ேவ��ய

�ைற�தப�ச �ர� எ�ன?

        A:-85 m 80 cm

85 � 80 ெச.�

        B:-21 m 45 cm

21 � 45 ெச.�.

        C:-2145 m

2145 �

        D:-8580 m

8580 �

        Correct Answer:- Option-A

Question74:-A bus started from a bus depot when depot clock was showing 1.00
pm. When the bus reached the last bus stop, the clock at the last bus stop was
showing 1.45 pm. After taking a rest of 30 minutes, the bus returned back to the
bus depot by a different route of length 1.5 times the first route at a rate twice as
fast reaching the bus depot at 2.30 pm. As compared to the clock at the bus depot,
the clock at the last bus stop is

ேப��� �ைலய  க�கார� ��பக� 1.00 ம� என�கா�� ேபா� ேப��� �ைலய���

இ��� ேப��� �ற�ப�� ெச�ற�. ேப��� கைட� ேப��� ���த�ைத அைட�தேபா�,



கைட� ேப��� ���த��� உ�ள க�கார� ��பக� 1.45 ம�ைய� கா��ய�. 30

��ட�க� ஓ�ெவ��த �ற�, ேப���, ேப��� �ைலய���� ���ப வர �த�

பாைதைய �ட 1.5 மட�� �ள��ள ேவ� பாைத�� ேப��� ��பக� 2.30 ம���

ேப��� �ைலய�ைத இ� மட�� ேவகமாக ெச�றைட�த�. ேப��� �ைலய��� உ�ள

க�கார��ட� ஒ����ேபா�, கைட� ேப��� ���த��� உ�ள க�கார�

        A:-10 minutes fast

10 ��ட�க� ேவகமாக

        B:-10 minutes slow

10 ��ட�க� ெம�வாக

        C:-15 minutes fast

15 ��ட�க� ேவகமாக

        D:-15 minutes slow

15 ��ட�க� ெம�வாக

        Correct Answer:- Option-C

Question75:-Aravind deposited an amount of Rs.640 in a Bank. Due to some
emergency he withdrawned the amount after 2 years 8 months and he received
Rs.844 and 80 paise from the bank.
What is the rate of interest if the bank has simple rate of interest?

அர��� ஒ� வ���� �. 640 ெதாைகைய ெடபா�� ெச�தா�. �ல அவசர�ைல

காரணமாக 2 ஆ��க� 8 மாத�க���� �ற� அவ� அ�த� ெதாைகைய எ��தா�.

அவ��� வ������� �. 844 ம��� 80 ைபசா �ைட�த�. வ���� எ�ய வ��

��த� இ��தா� வ�� ��த� எ�ன?

        A:-10%
10%

        B:-11%
11%

        C:-12%
12%

        D:-13%
13%

        Correct Answer:- Option-C

Question76:-Akbar travels 10 km north then turns east and travels 7 km, then turns
south and travels for 14 km then turns to the right and travels 4 km. What is the
distance from his starting position to the finishing position?

அ�ப� 10 �.�. வட�� ேநா�� பய��� ��ன� �ழ�� ேநா�� ���� 7 �.�. பயண�

ெச��, ��ன� ெத�� ேநா�� ���� 14 �.�. பயண� ெச�� ��ன� வல� ப�க�



���� 4 �.�. பயண� ெச��றா�. அவர� ெதாட�க �ைல����� இ�� �ைல��

எ�வள� �ர�?

        A:-3 km

3 �.�.

        B:-4 km

4 �.�.

        C:-5 km

5 �.�.

        D:-7 km

7 �.�.

        Correct Answer:- Option-C

Question77:-The next term of the sequence −2, 2, 8, 16, 26, _______,........

வ�ைச�� அ��த உ��� –2, 2, 8, 16, 26, ________,........

        A:-36
36

        B:-38
38

        C:-40
40

        D:-42
42

        Correct Answer:- Option-B

Question78:-In the sequence of symbols @+×– +×% –+×@+–, how many +'s are
there which are not immediately preceded by – and immediately succeeded by ×?

@+×–+×%–+×@+– எ�ற ����க�� வ�ைச��, உடன�யாக – ஆ� ��ேனா��

வராத ம��� உடன�யாக × ஆ� ��ேநா�� வராத +க� எ�தைன உ�ளன?

        A:-4
4

        B:-3
3

        C:-2
2

        D:-1
1

        Correct Answer:- Option-D

Question79:-If + means ÷,– means ×,× means + and ÷ means –, then the value of
7+7×7–7÷7+7×7÷7–7 is

+ எ�றா� ÷, – எ�றா� ×, × எ�றா� + ம��� ÷ எ�றா� –



எ��,7+7×7–7÷7+7×7÷7–7 இ� ம���

        A:-7
7

        B:-41
41

        C:-49
49

        D:-55
55

        Correct Answer:- Option-A

Question80:-Mark and Antony work in an IT firm, Mark is twice efficient as Antony in
doing a job and takes 30 days less than Antony for doing a programming job. Find
the time in which Mark and Antony can do it together.

மா�� ம��� ஆ�ட� ஒ� ஐ� ��வன��� ேவைல ெச��றா�க�. மா�� ஒ�

ேவைலைய� ெச�வ�� ஆ�ட�ைய �ட இர�� மட�� �றைமயானவ� ம��� ஒ�

�ரலா�க ேவைலைய� ெச�வத�� ஆ�ட�ைய �ட 30 நா�க� �ைறவாக எ����

ெகா��றா�. மா�� ம��� ஆ�ட� இ�வ�� ேச��� இைத� ெச�ய���ய ேநர�ைத�

க�ட�ய��

        A:-30 days

30 நா�க�

        B:-25 days

25 நா�க�

        C:-22 days

22 நா�க�

        D:-20 days

20 நா�க�

        Correct Answer:- Option-D

Question81:-Choose the correct passive form of the sentence, 'Clean the room'
from the following options

        A:-The room shall be clean

        B:-Let the room cleaned

        C:-Let the room be clean

        D:-Let the room be cleaned

        Correct Answer:- Option-D

Question82:-Identify the correct sentence

        A:-He didn't see her coming



        B:-He hasn't saw her come

        C:-He was seen her came

        D:-He saw her came

        Correct Answer:- Option-A

Question83:-Fill in the blanks with the correct choice from the options below
Do you mind_______ the door?

        A:-To close

        B:-To have closed

        C:-Closed

        D:-Closing

        Correct Answer:- Option-D

Question84:-Identify the error in the given sentence from the options below
If you have made the cake I would have appreciated

        A:-Have

        B:-made

        C:-Would

        D:-Appreciated

        Correct Answer:- Option-A

Question85:-Knucklehead is a slang for

        A:-Coward

        B:-Shy person

        C:-Foolish person

        D:-Crooked one

        Correct Answer:- Option-C

Question86:-Complete the sentence using any one of the suitable options given
below:
Yesterday I felt very tired as_______

        A:-I was feeling a bit under the weather

        B:-I turned a blind eye

        C:-Beating around the bush

        D:-I have got it in the bag

        Correct Answer:- Option-A

Question87:-Complete the sentence by choosing the appropriate one from the
abbreviations given below
I had a ______ when the crowd at the fair increased.

        A:-LDK

        B:-ICL

        C:-FOMO



        D:-BRB

        Correct Answer:- Option-C

Question88:-Identify the error in the given sentence from the following options
She was complemented on her success at the intercollegiate quiz festival held
yesterday at the college auditorium

        A:-On

        B:-Complemented

        C:-Held

        D:-Auditorium

        Correct Answer:- Option-B

Question89:-Fill in the blank using the correct phrasal verb given as options
She decided to_______ the topic in the next meeting.

        A:-Bring up

        B:-Pass out

        C:-Get along

        D:-Run into

        Correct Answer:- Option-A

Question90:-Choose the meaning of the word in bold in the given sentence from the
options which follow
People believed that democracy is the panacea for the humanity as a whole

        A:-Source of all problems

        B:-Solution for all problems

        C:-Condition leading to prosperity

        D:-Plan of action

        Correct Answer:- Option-B

Question91:-��� + �� – ேச��� எ��� ேபா� �ைட��� ெசா� எ�?

        A:-��� ��

        B:-����

        C:-����

        D:-����

        Correct Answer:- Option-C

Question92:-A friend in need is a friend in deed - இைணயான த��� பழெமா�ைய

எ��க

        A:-ஆழ� ெத�யாம� காைல �டாேத



        B:-ந�ல ந�ப� நா�� ேதைவ

        C:-ந�ப� இ��தா� எைத�� சா��கலா�

        D:-ஆப��� உத�பவேன உ�ைமயான ந�ப�

        Correct Answer:- Option-D

Question93:-'��பா�' எ�� ��ட�ப�� �� எ�?

        A:-�ல�ப�கார�

        B:-����ற�

        C:-�றா��ராண�

        D:-நால�யா�

        Correct Answer:- Option-B

Question94:-ஓ� எ��ெதா�ைய உ�ச���� கால அள� __________ எ�� ெசா�ல�ப��.

        A:-யா��

        B:-அைச

        C:-மா��ைர

        D:-தைள

        Correct Answer:- Option-C

Question95:-ச�யா? தவறா? ப��ைர�க.

(i) கள�� க��� ச�க இல��ய மா��க�

(ii) காத�� �ர�� பழ�த�ழ� ப��க�

        A:-இர��� ச�

        B:-(i) ச� (ii) தவ�

        C:-இர��� தவ�

        D:-(ii) ச� (i) தவ�

        Correct Answer:- Option-A

Question96:-ப�னா�� ெப��� ெப�வா�� வா�க - வா���� �ழ� எ�?

        A:-�ழ�ைத��� ெபய� ���� ெபா��



        B:-ேபா���� �ற�ப�� ெபா��

        C:-���ழா�� ெபா��

        D:-��மண �ழா�� ெபா��

        Correct Answer:- Option-D

Question97:-இவ��� 'ெசா�' எ�� ெபா�� தராத வா��ைத எ�?

        A:-���

        B:-பத�

        C:-�ள�

        D:-சத�

        Correct Answer:- Option-D

Question98:-இவ��� ச�யான வா��ய�ைத� ெத�� ெச�க

        A:-ர�� ேபா���டா� நா� வ�தெபா�� ர�� �ைலய����

        B:-நா� ர�� �ைலய���� வ�தெபா�� ர�� ேபா���ட�

        C:-நா� ர�� �ைலய���� ேபா� ��டா� ர�� வ�தெபா��

        D:-ர�� �ைலய���� வ�தெபா�� ேபா���ட� ர��

        Correct Answer:- Option-B

Question99:-உற� எ�� ெசா���� எ���ெசா�

        A:-���

        B:-பைக

        C:-ெசா�த�

        D:-ந��

        Correct Answer:- Option-B

Question100:-ைப�த�� எ�ற ெசா�ைல� ���� எ�த��

        A:-ைப + த��

        B:-ைப� + த��

        C:-ப�ைச + த��



        D:-ப�ைம+ த��

        Correct Answer:- Option-D


